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39- ... Working hard on the problem I'm certain you
can solveit.

1) finish 2) keep 3) hold 4) involve

40- |f anything happensto the students, parents will .....
the school accountable.

1) know 2) find

3) hold 4) keep
41- Parents' helps..... for ahigh part of school’s eamings
to spend on teachers.

1)make 2) apply 3) collect 4) account
42- The doctor asked me to the drug on my skin every
day.

1) apply 2) take 3) locate 4) account
43- Thedirector ...... aday for meto attend and speak.
1) took 2) restricted
3) valued 4) appointed
44-1 was latefor school and | had........ towhy | got late.
1) gustify 2)excuse
3) apologize 4) describe
45- They asked on experienced expert to make a ..... of
the painting.
1) value 2) valuable  3) valuation 4) valued

46-A good teacher should be a good -..... of students’
activities and behaviorsin the class.

1) conductor 2) observer  3) translator  4) expert
47- My father ....... that job only a short time the he was
employed in another company.

1) caught 2) lost 3) held 4) hit
48- Thestudentsshould fill in theblankswith ...... words.

1) appointed 2) appropriate

3) applied 4) applicable
49- Which sentenceis grammatically wrong?

1) There are number of housesin that areawhich are worth

living in.

2) Itis easier to prevent a disease than to cure it.

3) Every one enjoy being with them.

4) When they offered the job , | refused to accept it.

50- What does your job involve?

1) It involves serious risks.

2) | should go by car.

3) | have to prepare reports.

4) It is very wonderful.
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